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1.  Introduction

This document suggests a simple rule to map the signalled RSN to the RV index.
2. RV calculation based on signalled RSN
The method described in this section aims 

· to define a pattern of the RVs for low/high data rates to easily/clearly implement the agreement made in R1#38bis meeting as follows:
· low rate: use only the self-decodable versions with having two redundancy versions

· high rate: use also the non-self-decodable versions with having four redundancy versions

· to allow higher layer signalling to indicate RV = 0, …, RVImax -1 for each case above
· to calculate RV index (RVI) as RVI = RSN mod RVImax

It needs to be clarified whether the RVI should be calculated in terms of CFN when RSN = 3.
----------------------------------------------- Begin text proposal for TS 25.212 CR --------------------------------------------------- 
For a subset of E-DCH transport formats, the RV index (RVI) is calculated as RVI = 2 x (RSN modulo RVImax,1), where RVImax,1 is configured by higher layers and can have either 1 or 2. The subset is defined by higher layer signalling. The subset can be empty.
For the remaining set of E-DCH transport formats, the RVI is calculated as RVI = RSN modulo RVImax,2, where RVImax,2 is configured by higher layers and can have a value among 1, 2, 3, and 4. 
----------------------------------------------- End text proposal for TS 25.212 CR --------------------------------------------------- 

3. Conclusion
We propose to capture the text proposal into the relevant section of the CR for TS 25.212.
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